INERT TR B HE R UAL  ammgians
- e A A

ITHEX = e % g
BT 558 484 512 996
L HT 91 88 102 190
rf T 47 41 58 99
THET 591 606 643 1,249
FET 504 493 548 1,041
ER AT 392 382 442 824
/M BT 498 538 557 1.095
f;E B2 258 266 326 592
X FRE 729 833 919 1,752
FHigE 285 342 402 744
HigE 157 174 188 362
K 741 884 966 1,850
MR FE 268 298 345 643
INRFE2 805 810 943 1,753
INBBRR R & ET 5,924 6,239 6,951 13,190
R 621 633 726 1,359
hg2 352 333 406 739
X & 585 608 723 1,331
[& KiRF1 357 387 449 836
R KIE 1,191 1,199 1,325 2,524
= KRR T 10 14 24
KirF2 301 339 401 740
RERXEET 3,418 3,509 4,044 7,553
EW 346 359 438 797
H< |- E [ Hh 775 792 935 1,727
1R 628 820 891 1,711
_ A 300 361 389 750
= e 115 130 170 300
E oE 1,366 1,541 1,826 3,367
X =R 727 728 879 1,607
=ZEANE 598 699 764 1,463
=EMNE2 538 605 653 1,258
ESa(OLan 441 714 731 1,445
=ERRXEE 5,834 6,749 7,676 14,425
2R 80 85 97 182
5 223 290 296 586
w_E 57 65 74 139
vy =] 61 67 67 134
v 8BS 58 68 84 152
a T#5 30 35 34 69
1 HFE 315 299 389 688
=4 +EH 78 75 97 172
5IR 132 145 164 309
1E3L 60 72 83 155
N5 392 417 455 872
AKX E&E 1,486 1,618 1,840 3,458
TEH 133 127 141 268
, i 62 77 82 159
fil =% 107 130 135 265
E - % 590 764 871 1,635
X EHAL 221 216 256 472
=3 106 114 144 258
R X S5t 1,219 1,428 1,629 3,057
A 73 103 110 213
AT 85 94 105 199
173 J\IR 225 212 269 481
IR e 189 181 231 412
% ki) 205 249 287 536
B T 171 175 199 374
Il 70 85 80 165
LRIRE X & & 1,018 1,099 1,281 2,380
ER il 172 165 173 338
ka1 134 143 141 284
= p N 477 544 512 1,056
g EX5 573 603 612 1,215
% G = 638 614 702 1,316
B KRB 667 696 744 1440
EEE 233 179 54 233
REFRRX G 2,894 2,944 2,938 5,882
o =R 51 34 50 84
L7 HFHMNE 1,507 2,097 2,186 4,283
fg%: EHMNE 1,336 1,962 2,117 4,079
f:i; BT H 360 467 524 991
DNEHDERREEE 3,254 4,560 4,877 9,437
&t 25,047 28,146 31,236 59,382




